Vol . Pr. Voraliny  Balpedas Statiy Vize 4L S-b— 20066

1.2, sz e ler! 7

*Cileshe \WNes: 5 Biv wvoltana ethinen “wwedes verina el hic
Vilesye Yowvet N2 dems\ eadileilirle s, B kel wved 5z Lonavsu Yovvedle /o
Qn.rn\e,\'ﬁeme/ Wees e af o %Q\hﬂmqsu e elde echilis

. O'lfw,o- Wres p bir ciyrme S olog ru b, (e mole -PQHH" PI s 5‘:\»‘\5 'g“l
el sideledly wwved edli gt Lioliade cigmin densede olus,

® 2o0er forisaen Whesy %(-“-‘ bir e Yuuve A e\ +inde, o{a-ﬂt_:,oolc ole, birsistae-
e , Aence de sle~ bashe bir greg Yovved  ssdent ethiaest helidle
Cigrvn  dengesiacde  herleng b/ ddedisic (A oerce\esme 2.

LA =5 dephn  ilhes! ! Birbin e denws Lelinode olea cisialer bisbirlen-e
sodetee e.=>_13r r YAt OKa'gfh\de% debhat 204+ e by fowed U!\ﬁu‘orh
\ovr.

To2. ) enfees Ty B olane \ Werawi N alany bo W e me.ﬁcﬂo/\q Oadire -

cet datlemsel egriava af i\ mmerbeninia et edhiw s gelu ile
bu esninin {90 U Lo Sar P l—asi te e\dhe ed\i -,
Teosre~ N | Bir diael SismrA haems / tendisral plogturnaae

ek A ku\‘\c.h,l‘:k(:_c‘\t_ o\c.\?_\an—ﬁe,\ ale A~ A‘ ‘\\9- bu C\\Qﬁ\ﬂ c:\%\r"\\\:_ A -
\Lﬁ'?--‘\’\iﬂ bu Lae i o’lu$¥ufrﬂn& P L!a-* —culaceg: < tﬁo'Uf\u—f\ Las —
fmest e elde edhlia

I:} . A eenel olen~ele -t US E‘d‘;u'\l‘-« Ve v ele biss vapld tins, Sare
o ant bive o= 'Q:'\a‘s‘g_n N YA O ne A Vecles: we ar

/I,‘:“":"*;‘:s'?*‘:a@ 5 2 oY

[y ...-'9 ’_)’
I’J MC’:GQ‘F" O VoV
A . 5

\l fm: = NP .\(\5—?*{,_@ v Tu Fp

¥ = "’E e B w"{j—eMo-ﬁ?"M"z‘?

W \—wﬁb)\. b sk e | A dalsy N bBisi o~ e Ll'hw':‘-} le leqf\ s\eler olech
Cor Perse | be de g \hele o rmea! b \lesieni—- riolohe it elele
e 01'9-*&.’& B e O L 2 —? bt Ve Ldaas ';I'G- ter ety l)d g~
vao AN vetterel  plercelt Herif etis olurgz .

2,00
T A) gEE e oy
T~ ‘Lé,__.%./:-?
iH)
'&L/_f*‘/‘“
&2
A~ b

/.;;-_\_,ﬁM,q,:O =D 100415430'?—"13“5‘&-::0 = 3‘005%1‘5

+ze, =0 D Do +du— 400 =20 = hy=0
=25 £¢x =0 =" Ax = O

A



4\» .éMA___ 200.7 -r\/() 2=0:=>

v%:-‘-ﬂ-SD N

Mzfa=0 =

R e Y e ? NVa-Va-400 =0 =
450-\Va -400 =0 DVa=50N

,_.'\__721:7":0 =D qu:. @)

g'_;z :O

) S:L"(, =o;352.‘=o

& N ok\*‘-cﬂ"i (et L‘,I..f-.

%;! BON a0 & w8, =0
\L Sg, = =400 N
Su5 S24

il e il ’t
L5 43?555-;@:.') 3A§-5C31 (D= SA.;’ = SO N
L son

‘; ﬂokr‘tm.\ ~ e}ﬁ-

—

\[__;)Sgg HEFy=0 304 S5 B - 0 ©Sgq-—707N
2
Si15= G0

B 20 = Sser S50 2O D 5 -2z _ 0 DSee= 499N
2. Zl
Séq—_. Sgg-.: i!-qqu N

S e MRzcz05 S345.. 8 -
< ol ﬁ Y b8 243 2 = O

+ ZF4=20 D g, -\E-;o 2
= & 6+ 2 $m*ﬁ-f+-5~r I3 ~%3O:'D Sun=A9,99 N

” ',qo FA
L 1% n\"f&‘;- (o) Olt:\ ./ 5,-5 522_

\A— WerFy =0
7S
2 23 515*%_‘_ Saa, \r_%:r (@)

Sea = =525 = 70,34

25 ZFx =0 D 355 & % x So3 - 5155 -0 708h +$rrs+’+°*?i'%=0

S
- e 8 II\GJQ Y o
M -4500

Mery VgiS, - 0 D 460455220 B 552 =~250N

A
7. OAE. Yoattl ()ﬁ@"l c: _j__péx-{: m:ﬁ-‘ll\% -Q‘ap‘aQ-?o:q-)*'\% —e v

70

g, N ZFu= 45o- 3094 Yo - AUk 40T _
709 _aep o 7= Vv

.



f:)ao — /?I
Lv
@—3& Ag .\ aiNee

e cubuss Ay~ L’“z‘lu/\\u

Oz—j\;’on DC?_
L
\L I J/ Ox &Ye~mp sarge o Aen Folon ges!
San Sco ez N sa
WikX  seo k3 = 0

S 5

5(:0 = O/ w



